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1.3.1 Résoudre dans C les équations ci-dessous:

a) 22 =25 d) 22+32—-5=0
b) 22 = —4 ezl —3(1+i)z+6+Ti=0
222 + 102+ 17 =0 f) (1+2i)22 —(7T+4i)z+5—-5i=0

c) 225+t 02 + 4% =o
A = 10%- 4.0.1F = o0 — 156 = —24
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f) (1+2))22—(T+4)z2+5-5=0

D= (?+Q¢)2_4(4+2L)(5—5¢) -
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1.3.2 Décomposer dans R[z] et C[z] les polynomes ci-dessous :

a) 2" —1

d) 2°—1
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P= (2-0(2+4) (2°-0%) = (2 0(2+0R2-)+) e [

b) 21 +1
P: ZL'+4

Rop : w = [r, 0], Vensemble  de
n e'eo_‘mwb

{N?J‘%%ﬂ

Les vaomes 4H-ime do - 4

~1 -—[ 1; 4?0“}

Ses rAdanes h-eme cnw/oorfe

K=o, n-}

w, = [4 ; Lf5°] = o (45°) t st (4s°) o = ‘%— + ‘[2% L=y
W, = ['1,' 435"] = w(n%) + su (1259 = -“—r% +J-_25; = U,
w, = [4; 7_15"] < Los(us‘)+ 3y (1282) 0 = 'izz - J__;ZL = —1

=~ [ 315°] = cos (3 Z
[ 2- (%8 (o- 08 %, ))( ( ‘w"") (14 e Cla

-
)

Wo

= 2" - o2 4
(2- ('%—‘%;))(g (& )) = 2°1Jze v
Pl wpde
p= 2"+ = 202t - 22t

= (2% 0% = 228 = (f+1-Uz2) (2544 <02 2)



